
Jacek Kredenc – szkic rozwiązania 

Jaka suma? 

Zadanie 1. 

Wyznacz sumę: 𝑆𝑛 = 1 ∙ 2 + 2 ∙ 22 + 3 ∙ 23 +⋯+ 𝑛 ∙ 2𝑛. 

Rozwiązanie 

Zastosujemy wzór 

𝑆𝑛 =
𝑞
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(1 − (𝑛 + 1)𝑞𝑛 + 𝑛𝑞𝑛+1) =
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(1 − (𝑛 + 1)2𝑛 + 𝑛 ∙ 2𝑛+1) = 

= 2(1 − (𝑛 + 1)2𝑛 + 𝑛 ∙ 2𝑛+1) = 2(1 − (𝑛 + 1)2𝑛 + 2 ∙ 𝑛 ∙ 2𝑛) = 

= 2(1 − 2𝑛𝑛 − 2𝑛 + 2 ∙ 𝑛 ∙ 2𝑛) = 2(1 + 2𝑛(𝑛 − 1)) = 2 + 2𝑛+1(𝑛 − 1) 

Zadanie 2. 

Wyznacz sumę: 𝑇𝑛 = 1 ∙ 3 + 3 ∙ 32 + 5 ∙ 33 +⋯+ (2𝑛 − 1) ∙ 3𝑛. 

Rozwiązanie: 

Naszą sumę możemy zapisać jako 

𝑇𝑛 =∑(2𝑘 − 1) ∙ 3𝑘 = ∑(3𝑘 ∙ 2𝑘 − 3𝑘) = ∑3𝑘 ∙ 2𝑘 −∑3𝑘 = 2∑𝑘 ∙ 3𝑘 −
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𝑇𝑛 = 2∑𝑘 ∙ 3𝑘 −∑3𝑘 =
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∙ ((1 + 3𝑛(2𝑛 − 1)) + (1 − 3𝑛)) =
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2
(2 + 3𝑛(2𝑛 − 2)) = 3 + 3𝑛+1(𝑛 − 1) 


